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Linear Systems – Number of Solutions

A system of 2 lines can intersect once, always, or never.

In a linear system with NO SOLUTION, the lines ____________________________.

* The two linear equations have the same slope and different y-intercepts. 
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In a linear system with ONE SOLUTION, the lines ___________________________.

* The two linear equations have different slopes.
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In a linear system with AN INFINITE NUMBER OF SOLUTIONS, the lines
__________________.

* The two linear equations have the same slope and the same y-intercept.
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Ex. Determine the number of solutions to each linear system.

a) y = 4x – 3  


b)   2x – 6 = 8y

c) 3x – 5y – 2 = 0 

    y = 4x – 7 


      9 + 12y = 3x  

    4x + 5y + 2 = 0

